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1. A pregnant female delivey a baby who

suffers from stunted growth, mental
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regardation, Low intelligence quotient and

abnormal skin. This is the result of,

A. Cancer of the thyroid gland

B. Over secretion of pars distalis

C. Deficiency of iodine in diet

D. Low secretion of growth hormone

Answer: 3

o Watch Video Solution
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2. Infection of Ascaris usually occurs by

A. Tse-tsefly

B. mosquito bite.

C.drinking water containing eggs of

Ascaris.

D. eating imperfectly cooked pork

Answer: 3

o Watch Video Solution
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3. In plant breeding programmes the entire
collection (of plants/seeds) having all the
diverse alleles for all genes in a given crop is
called

A. evaluation and selection of parents

B. germplasm collection

C. Selection of superior recombinants

D. Cross - hybridisation among the selected

parents

Answer: 2
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° Watch Video Solution

4. A good producer of citric acid is

A. Clostridium

B. Saccharomyces

C. Aspergillus

D. Pseudomonas

Answer: 3

° Watch Video Solution
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5. The cell-mediated immunity inside the

human body is carried out by

A. Thrombocytes

B. Erythrocytes

C. T-Erythrocytes

D. B-lymphocytes

Answer: 3

o Watch Video Solution
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6. During sewage treatment, biogases are pro-

duced which include

A. hydrogensulphide, methane, sulphur

dioxide

B. hydrogensulphide, nitrogen, methane

C. methane, hydrogensulphide Carbon

dioxid

D. methane, oxygen, hydrogensulphide

Answer: 3
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